ETIRERR

F — [E

503402-1

N,
)
N
Hg‘
$i% EE

1 S

N ST




503402-1

EBrTiE iEnﬁ?-: H=—ml

B ER B EAMEEER e e e e ]

N Z_%é: EZ/@}E[DZ‘TF%’E%%B’J%E}J .......................................... 32
BB 51

BEHS ]

~ B ~



$—is MK

g?@@@?@??@?g
: BHEA ¢
¢eeeeeeeeeee

AR

()HL{ B )5 R =X
EIRZK

- MESFF N2

R
(=) fe R 2R

- MEMEIRR

(Bg
CaL
(g iR E)

- MERBDEAHREI

(VE 5
() R 1 B &L 7

- EEEREBEEPARIYRIEMIEMAED

(=)~ T JBR e vt B O A PR 3 Bl
() B P A€ v Y L 37
(PRI R B

()t g v o ALY 3 Bl

503402-1



503402-1

;;;;;;;;

C‘v U‘D C‘v U‘D C.v U.D C.v U.D C.v U.D C.v C.a .D

als
=S

ala
=]

ala als
=S =)
als als
Tgo v Tgo

—  E®
BB R -
1B
(D¥ A7 H -
(DB # Az (ST )

A, MKS i :
K= - ERALH -

B. CGS #l :
N —w — R RALH] -

(2 FPS % :

7B - AR RATETIN — T3 1 % BOd A 555

v
) HAABMWME
B P B A7 2] (ST
BBE B AL (STH)) FPS 2 4]
MKS #l| CGS #i)
123t b sec
W
N em lin=2.54cm
AN
KK BRm lem=1x10"m 1ft =12in
1/i=0.3048m
. NS I 1b
Ha T kg i
lg=1x10"kg 1b = 0.454kg
. TSR E K °R » °F
{[IJIFZ.XF oF_32 ] o
°C=K-273.15 =32+1.8°C
. m Jt
R — —
A S
g=32.174i§
N m cm A}
Mk | =98~ g=980— fi-lb
§ g, =32.174L""n
lbf-s




503402-1

VALSIR (10 S ivAR
D) HeEMMEA
BE PR BE A7 8 ( ST %
MKS ] CGS
. kg g by
B o ot ﬁ3
g (N) . 3
1 koom | EE (dyne) | TIEEID
1IN =1 . )
B E X N E 52 ldyne =1 g gm llbf 532']74M
lkg, =9.8N § :
EH (1)
Ij] (?HA%) J=1N-m F*%_(erg) Btu
N , erg =ldyne-cm ] Btu _ cal
ﬁxﬁfgﬁ :1kg2n/l :1X1077J lb.OF g_ocv
s
=
F (W )35
s LF (W) 2 %) i
BEL o _ kg-m :i 1hp = Oﬁ S
feft IR | 7 =1=2— W= P =330—
s y y
[IE]
= 5 b,
W/ 1Pa51ﬁ2 1bar =1x10° Pa psiz%
. m g n
77+ i ke Hbar =32~ | lam=14.psi
m-s’
%]jft; mﬁ*’/\ poise = g
Ha+ (RE kg cm: S
1Pa-s=1—2- 1 i _]0 .
XH# FEﬁ ) m-s pa-s=1Upoise
" J cal Brtu
P kg K g-°C Ib, -°F
W Keal Btu
TR EEEREA —
?\\1%%1&%& m.K h.m.K h'ﬁ'oF
WMz BEAE :
O -

5 -1 -1
1IN =107 dyne =1.02x10 kg/- =2.248x10 lbf

QBT -




503402-1

1Pa=1Ody”f=7.5x10‘3mmHg=10‘5bar=1.02x10‘5k—g2 —1.45%107 psi
cn- cm
Dfe 7
leal =4.187J
DB E

1Pa-s =10 poise =1000cps

2.7
(DFGH -
OBy
&) = i A RS R AR 2 (E T = By R AR+ R A )
B AR
QERERE

HE S A 2R + BhELEE AR A = BE AL HH AR + R MM RE L R AR

TG IR (LS L) = TR + R
L B
()RR S R

D) i s — TEB0 ]
D SRR i

®w=—5@

w o EEENEREL y IR HAIRFR - B AR
PEE

o ¢ B LLBIH B - MR IRAUREL - %ﬁ%mj

¢ : B S Z BN
v RERZALE YT
(3Bl B {0 B AP 6 L S A

’\/4'\/



503402-1

:V'V'V'V'V'V

- '
P ==rg
M L] M
YYYYVYYYVYVYYYY
3
— 300 KM T84T 2 I REBAE L0en X REERE - BER

0.8cp » BERI-L - AIEARSHRNBRDE <

cmy,
& BmntE
Azﬁxl2 =0.785¢cm?
4
552
b= 78.54:100@
0.785 s
e
1=0.8cp
—0.8x10°—&
cm- s
Re = Dop
7
_ 1x100x1
0.8x102
=12500

Ans : 331 Re>4000 £ it

- TSfER - BRER DTETE 8RR « B b 2ESKE H
BEBRA ©

& D, =4r,
D, =4ry :4><‘§Eﬁ
R R

~ 51 ~



